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Di fferen tiate renewab le energy s ources wi th non-renevrtbrle sources.

Briefly explain GlobalWarming and Ozone depletign.
Define Zeroth,lu law,.2bdlaw and 3'd law of thermodynamics.

, :r OR..l "

Define: .:' 1

(i) Intenral urergy ,

(ii) Enthalpy
(iii) Entropy ., '

Explain the formation of steam. "":',,.
Explain briefly the application of hydel, wind, nuclearand bio-fuels.

Module-2
Explain the working of flfiitashire b6i6@dt sketch.
With neat sketch, e5plaln working of Franib,riirbine.

3a.
b.

, 
.,. 

r,,,_ 
,,r*U;6f

4 a. List and explain frnctions of any four boiler mountings.
b. Explain the vdbrking of centrifugalpump with neat sket0ti:
c. Explain *ls,phenomenon ol.1., g and cavitation"in,?ump

a. Explain the working of four"stroke diesel enliri'€'with neat sketch.

used is a3,900 tJikg. '

6 a. Define:
(0 Refrigeratingenelt:l
(ii) Tonn odrefrigeration
(iii) Ice ma$ng capacity
(iv) Coefficftnqfperformance
(v) Unit of

explain the working of vapour compression refrigeration.

b. ""A''iingle cylinder t*o 'stroke petrol enginl develops 7.5 KW at'2500 rpm. The mean
,, effective piesruro$ihe piston is 8 bar-aiid mechanical efficiency is 8070. Calculate the

diameter and strolt&.lbirsth of the cvlinder if stroke to bore ratio is 1.5. also calculate the fueldiameter and stro*&,lbitgth of the cylinder if stroke to bore ratio is 1.5, also calculate the fuel
consumption 'tttt'if the brake thermai"efficiency is 28Yo. The calorifical value of the fuel
diameter and stro*&,lbitgth of the cylinder if stroke to bore ratio is 1.5, also calculate the fuel
consumption 'tttt'if the brake thermai"efficiency is 28Yo. The calorifical value of the fuel
used is a3900 kJ/ke. ' (10 Marks)

b. With a neat
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a. Write short note on sm&,t materllrls and shape I

b. Explain with neat sketc$thi ol.Sacetylene gas

c. fxplain briefly thermopfustics add the
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a. Define velocity ratio of'ljelts. Derive ttre*ffih of the belt in open driv€;.}

b. List the advantages of V-belts o?er flg.@elts. i
c. Explain spur, helical and bevel BF?fi, "-:" ,: "sd,
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a. Explain the following lathe,o'i19$$tions: .r
(D Tuming - ffiru* 

", 
'qdb(ii) Facing ._h ud*,

(iii) Knurling *- - r-: ,, ""
(iv) Drillin* " 

t$6;, ;

b. Explain the foflffiigg'mitting opbrations: .,.ft:;i*'(D Plane mi!i*t$ {. '
(ii) End n$|Jtsg
(iii) S[.dmilling ,i, ' '.. &'., '
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10 a. With a neat sketch, e*phq*Smeon"r,*3L*c $,3,nfq 
- \'d

b. List the advantages of Qlp i{rachines. - '+D. LlSt me aqvantaggs ur L*t\sa {Jll4ulrurE}. * ,-Ir '-::

c. Explain the appl-ication OflRobots in material {gpAing and assembly.'
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